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1 BIES 1kg 1 |®ES 1keg
2 |E:FE 1kg 2 |E=FE s —zioy7 174] 1kg 2,700 1,944
3 KAahD 1kg 3 KA | #aFkil 71| 1kg 1,080 864
4 |xE =l 10| 1kg 864 4 |&F 1keg
5 &L BH-=F 150| 1ke 3,132 896] 5 |&HL kg
6 [LvbL 250 40| kg 259 6 (LML 1keg
7 |F5H00| B 112]  1kg 972 810| 7 |F73&HL v kg
SAE dtiEE 592| 1kg 2,484 972| 8 |SAE kg
9 |ARY BE-ES 40| kg 3,132 1,944 9 |5Y 1kg
10 |&ZL B 60| 1tkg 702 410] 10 |&ZL 1kg
11 |26 =8 10| 1ke 972 11 |26 Tkg
12 |f=Ly == 497| kg 1,404 918| 12 |f=Ly kg
13 |[FFL F 10| 1ke 540 13 [[FFH 1kg
14 |[hhiy 1kg 14 |Ahis Tkg
15 (OB 1kg 15 (U5 itigiE 6| ke 4,752 3,456
16 |AMZ B8t 15| 1kg 2,700 1,620| 16 |AIZ 1kg
17 |2Y AU RYT 20| kg 2,592 1,998] 17 |Z U 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |f=C itigiE 6] kg 3,456 19 |2 1kg
20 | Tkg 20 |vE Tkg
21 |HEY B0 deEsE 15 kg 1,404 21 |HY 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 146| 158 8,640 1,080
23 |BEHD |BH-mE 90| 1ke 2,700 2,376| 23 |EEHP 1keg
24 | E B4 - hE 275| 1ke 4,860 3,780| 24 |54 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |ASF | ov7-7y 482| kg 2,808 1,458) 1 &+ |5y-dtsms|  1,555| ke 2,376 810
2 [Amiz |mvreram 44| kg 6,264 4752 2 |E&IE | wexm 457| kg 1,944
3 [BAY Y7339 567| 1kg 4,860 1,156) 3 |iExAFE | dbiEE 155| 1kg 1,728 1,220
4 AFLbL| SR 56| 1kg 886
5 [FAHL RI& 164 11 335 130
6 [BYDHA 250 275| 1kg 2,700 2,376
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